/DVIRB

3UDFRZQIN 5RINiDG P JU 6NRZURQ $QQD 7\J

7N 7N
o 31-$ *UDPDI\ND 31-$ *UDPDI\ND
™ SUDNINFIQD FZ  PJU SUDNINFIQD FZ  PJU
6NRZURQ $QQD " ( 6NRZURQ $QQD = (

Y8/ 7/ &+ Y6/ /)5
> 7N 7N
L BIXFKDQUH IHNVIyZ Z | 31-$ JUDPDIND
4 DQIHIVNLP  PJU BNRZURQ SUDNINF]QD PJU BNRZURQ
N $QQD =% )*3 7/ $QQ/D “( )$/
A 7N 7N 7N
o 31-$ JUDPDIND 31-$ JUDPDIND 31-$ *UDPDI\ND
x SUDNINF]QD PJU BNRZURQ SUDNINF]QD PJU BNRZURQ SUDNINFIQD FZ  PJU
T $QQD " )$/ $QQD " )$/ 6NRZURQ $QQD " (

/ &+ )5 / 1-% %/ /

7N 7N 7N
—_ 31-$ *UDPDI\ND 31-$ *UDPDI\ND 31-$ JUDPDIND
L SUDNINFIQD FZ PJU SUDNINFIQD FZ PJU SUDNINF]QD PJU BNRZURQ
BNRZURQ $QQD =% BNRZURQ $QQD =% $QQD =% )87/

2/ 7/ 2/ 7/ / 7-6
=
™
o
©




